Math 5320, 2/26/18 Name:
Worksheet 18: Gauss’s Lemma (Section 12.3)

1. Consider the polynomial 2—35364 + 522 4+ %x + % € Q[z]. Write it as a product of a primitive polynomial
and an element of Q.

2. Tt’s possible to write any polynomial in Q[z] as the product of a primitive polynomial and an element
of Q. Given a polynomial in Q[z], how would go about writing it as such a product? In particular, how
would you find the element of Q? Do you think there is only one way to write any given polynomial
in Q[z] as a product of a primitive polynomial and an element of Q?

Check this box if you would like feedback [J



